Quiz 6 Math 2560 Sect 81 Show your work
Dec 2, 2016

[3] 1.) Circle T for True and F for false:

la.) If ¢ is a solution to a first order linear homogeneous differential equation,
then c¢ is also a solution to this equation. T

1b.) If ¢ is a solution to a first order linear differential equation, then c¢ is also a
solution to this equation. F

[4] 2a.) Solve: x' = [é g} x

Find eigenvalues:
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Find eigenvectors:
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Ag.an eigenvector with eigenvalue 2 + /11, A
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[2] 2b.) Determine if the ¢fitical pomt is stable, asymptotically stable, or unstable

unstable

1 and zo =/1= ‘/—:cl for 1 > 0 and z1 < 0 along with some
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Suppose an object moves in the 2D plane (the 1,22 plane) go that it is at Ri: i genvectors:
the point (z1{t), z2(1)) &t time £. Suppose the object’s velocity is given by
zi (t) = ax) + b,
z5(t) = cxy + daa
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Or in matrix form AMMV HA” MVANV
| eneral sefution 2 __.__bnuﬁ _vm +Q—ASVH+A§V
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Case 1: {(a+d)% —4(ad —bc) >0 mwto \)%A&w .N.Ta.
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Suppose the eigenvector corresponding to this eigenvalue is
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Case 3a: A<D \
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